J
s

@ x2-2x=0

@(x+2)2 =0

@ (x-2)2=0

0

® (x-2)(x-5)

® (x-1)%=4

‘ (-2+2°=0




x7F-1, 0, 1, 2 o, o]z}

of 7k

2.

29

=1

@ x

1EE=x=2

X

® x=2

®x=—2E=x=1




3.

the % ol A st $4) gL AL

® (x—3)(x—|—3):9x(x—2)—>x:;_‘:£—15
@34-x)=x*+12—>x=0FEx=-3
® x-3)?=dx—x=1%Ex=9

@+ 1)(x+2) =6~ x= -4 T =2

® x-2?=1—x=1F=x=3

B

@ ax®> +bx+c=09 EF XA
X +3x-4=0

(x-1)(x+4)=0

oebA] x = -4 = x =1 o]t}




x 700, 1, 2, 3L 1, oJAPYAE A x* - 3x 42 =0 & S|E F5tofzt

¥ =3x+2=0°4 (x-1)(x-2)=0
x-1)=0E=(x-2)=0

x=1FEE=x=2




OlAPIA] 2 — 20— 15 = 0 o] 2L F5H?

@x:5,x:—3 @ x=-5,x=3
@ x=15 x= @ x=-3, x=-5
® x=-5x=-3

X -2x-15=0
(x+3)(x-5)=0,
Lx=5,x=-3




OJZHFA Al 42 4 10x — 24 = 0 & o]},

_x2+]_0x—24=0
(x+12)(x-2)=0

. x:—123:_'11f‘.x:2




7.

oh2 oAb Al 9] =2
2x2 - Tx+3=0
L 1
—Z.-3 S 1,
v 2 @ 2 ®
_’3 _’1
o} 5!

B

2x2-Tx+3=0
(2x-1)(x-3)=0
1

L = Bemg =3

2




2-9x-52=0

. x=13

.

ul
KO

A

o
I
™
| T}
I
=
>
|
N
=

(x-13)(x+4) =0

=4

13 E=x




P-bx-14=0°FFF IOl +3x+k=02 2L, k9
are Fotofel.
>

> =g 70

¥-5x-14=0, (x-7)(x+2)=0,
x=TEsx=-294xF
x=70°x>+3x+k=09 LOo|B2 49+ 21 +k=0,
S k=-=T70




10. 2-3x-10=09 F L FZ o) 2 +2x+k=09 2L 0, k 9
eI
» E.

> =g -35

B \

¥-3x-10=0, (x-5)(x+2)=0,
x=5E=x=-2

2 2A57 a2 +2x+k=02 ZO|BE2254+10+k=0
o k=-35




11, th& % ol Al obd 2129

@x(x—7)=x2—7x @ 3x(x+2)=2x>+x+1
® (x+4)2=2x2+2x+1 @ (x+1)2-3(x+1)=28

©® (x-1)(x+3)=3

@ x(x-7) =x*-7x & BE F= FH 22 o]sto] st
x(x=7)=x>-Tx=0




(ax—1)(2x+1) = bx® + 1 of|A]
(2a—b)x* +(a-2)x—2=0

_ 1
2a—b # 0 ©]ojofstE =g 2a¢b(3’5—‘5a¢ §b>




13. o5 F xofl @t oz 4 o] ofd A2?

1
@ 5)62:0

@ (x-1)(x+1)=0

® (x+3)?=2x

2 +1
@ =
(@)(x+2)(x—2):x2+x+l

-3

Ox2-4=x>+x+1
sx+5=0(EA HAA)




14. the % oA ARl 2L

DO x24+2x+1=x2-1

@) (x-1)(x+2) = 4x
® 2x-5=0

@ x> +3=(x-1)*

@ x*-x>+2x=0

@x2-3x-2=0
@ AR




15, S F 2 -4x-12=0 &2

g2 A2?

D x-2=0EEx+6=0 @x+2:0§_%x—6:0

®x-2=0FEx-6=0 @ x+3=0E=x-4=0

® x+3=0E=x+4=0

X —4x-12=0, (x+2)(x-6) =0
Lx+H2=0FEE=x-6=0




1
2E+
T+e=x

. x:—2lI._,—]:—x:3

x+2=0E=x-3=0




17. 2 &3 ab =0 0] H2] &= ALY

D az0FEE=b+£0 @)a+0°l1b+0
@ a#0°11b=0 @ a=00°]1Lb+0
® a=00°]12b=0

B

ab=0°Ha=0E=p=0
Z a, b T4 Holk shih= 0 o]t

QAN a+0°b+0°Ha bRF0°] oFUER ab # 0
o|ch.




18. (x+2)(x-5) = 00] ol 7] sk x o] gl TS Fahw?

@ 1 @2 ©@)s @ -3 -4

x+2=0EE=x-5=0
x=-2E=x=5
S =24+5=3




19. oA AA 32 +ax+b=0 H7t x=-3 FE=x
o] 3t oot
> E:

> =g 19

w| ot
ne,
£
Q
|
ol

B

3x2 +ax+b=0 2 7}
x=—335—‘5x:§©]£’_§_
(x+3)(3x-5)=0
3x2+4x-15=0

A a=4, b= -15
a-b=4-(-15)=19




Sl

P-2x-15=09 &+

g 4]

17}

20.

@ x=-bF=x=3

)

@ x=-3E=«x

@ x=1F=x=1

o
Il
0
—
I
=
(o]
I
N
=

0
=-3

L x=5FEE=x




21. oA 2x(x - 2) = 6 o S Fsfoiel.

2x%> —4x =6

22 —4x-6=0
2(x=3)(x+1)=0
L x=3FEEx=-1




(x=3)(x+2) =0
-2

A
~— X

T

‘ C2)
x=3




0:

o]2} HFA Al 332 — qx— 16 = 0 9] §F o] —4 & 1], ¢ 9} TH2 g} 29]

o7 Aof x Al -4 & HYstHA
48 +4a-16=0

a=-8

3x24+8x—-16=0
(Bx-4)(x+4) =0




Al
2

@)2 ® 3

® -1

B

2 +3ax-2a=0°x=1< Y

-1

¥ =-3x+2=0,(x-2)(x-1)

14+3a—-2a=0,a

0




OJZAFY A A ax? + x+2a =0 9 T
o, ab & 5ozt
> =
1
> ®e:
3

o
rl
o

st

ax* +x+2a=0°x=2HY

1
da+ 2+ 2a =0, a:—g
1 2
—§x2+x—§=0
Zt o -3 & H5HH
2 -3x+2=0
(x-2)(x-1)=0
x=2EEx=1(HE3 D)
1 1
b=1,ab=-—-Xx1=—=
“w=3 3




26. O 27+ 6x-a =09 F2

Fafodat,
>

> He: -6

B

x =33 Foix Aol At
184+18-a=0

c.a=36

2x2 4 6x - 36 =0, (2x + 12)(x=3) =0
2(x+6)(x=3) =0
x=-6EE=x=3




OIAPI A 22— 2(m + L)x +4 = 0 o] F2L 74 ), m o] gLe?

N
W

S-S 7 E 22 - 2(m+ 1)x +4 = 0] SAAFA] o] Eofof
A=k

1 2
{—2(m~|— 1) x 5} =4

(m+1)2=4
m?*+2m-3=0—- (m+3)(m-1)=0
m>00B2 m=1




28.

rl
o
N
i)
&
o
i
»

x ol Tt ol A4 2 4 8x 4 15~k =0 0] F

o] 3t2?
@k:—l @ k=1 ® k=-2
@ k=2 ® k=0

S-S 7HA A 22+ 8x+ 15— k7t FHA|F A 0] Fojof stz
15—k = 16|t}
k=-1




29. OAPFAA 4x? —8x+k =0 0] & 7HA ol k o] g& Fatolat.
g

>
> ®™et: 4

oH-d -




30. OJAFWAA 44 + (k+4)r+1 =00 TS AL W, k o G
Fatefet.

=
H -

cCh "
H -

v V. v Vv
02
L
kol
I

0x
1L
bl
[

|
(o9

B \

ojAp A A o] mEAlS petal &
4%+ (k+4)x+1=0°] T2 7IKHH D=0
D=(k+4)3?-4x4x1=0

(k+4)2 =16, k+4=+4 ,k=-4+4

wetA k=0 B k = -80°|tt.




31. o3 T olAPYAA Y A7t B 54090 ALY
DO x24+x-2=0 @ x2+4x=0
@3x2—|—10x+3: @ 2x>2-7x+6=0
® 3x2-27=0
1 _
@ x=-7 Exx=-3dH JHotEE BF Srolt




32, 149 <2(ct3)E BEAE 5HTF 2L A% xo] Tfsto] ol A
P tax+b=07t 2L 2 W, a+ b 9] FE FStolat,

cCh "
H -

>
|> HMeb: g

oH =

B ‘

x+9<2(x+3) 5 WEote s B 22 A4 x= 40t
TetA 4722 +ax+b =0 9 SO 2R
(x—4)?=x*+ax+b

a=-8,b=16

sa+b=38




@x2+x—6= @ x24+x-2=0
® x2-6x+3= @ x>+2x-3=0

® x2-4x+3=0

x =25 Hsto] Aot= 84S ALEarh
D x+x-6=00° x =25 thYotH AJHtct.




D (x+2)2=0 @ x*+2x=0
® (x+2)(x+5) =0 @) (-2 =0
® (x-1)%=4

(2-2)*=0




35.

_":_
A, a-b9 F2?
of -1 Gn @3

O] AHFAAl 42 —ax+3 =0, 22+ 2x—b =0 9 LEZO]

xz_ax+3=0’ x2+2x—b=0°ﬂ
x=1ZHYgstHa=4,b=3
Ta-b=4-3=1




36. OIAHAHA x2 +ax-2=09 F ZO] x=-20]2, x> +3x+b=0
o] gk o] x = -1 ¥4 o], ab 9] S Fo}A?

S

®-2 ©-1 B0 @ 1 ©F

B \

2 4ax-2=0° x=-25 Y54,
4-2a-2=0 .. a=1

2 +3x+b=0° x=-1& Y54,
1-34+b=0 .. b=2

ab=2




37. FOIAMAA P+ x+a=0Tx*-4x+b=02 FEA 24
i, ax® + bx + 5= 0 9] & 5t}

> &

g

2+

> HY. x= 5

7]
a=-6, b=4
s—6x2 +4x+5 =04
x_Qi V34

6




H}-;(.]/;}x2+2x+A:OQJ—ELO]x:3E%x:—5OT—'_]Um,A'OJ

[eRNe)

(x=3)(x+5)=0
X2 4+2x-15=0
. A=-15




rl
o

a, b2l & o, 3¢-2b 9 Zk& F5tolet.

(2x-3)? = (2x+ 1)(x

~9)+25

> =
> "e

10

&8

A7NshA A 2lshA
222 +5x-7=0
2x+7)(x=1)=0

7
N
Ty

3a—2b=3><1—2><(

ﬂ&ﬁaszz—;ﬂEi

;)=3+7=10°]D}.




40. oATAEA 2(x-2)(x+3) = (x+5)* -4 S F T m, n ol g
o, m-no 327 (F,n>m)

@14 o-u1 08 @s ® 14

0|

B

A& Aot x? -8x-33=0
(x=11)(x+3)=0
x=-3F=x=11°082
m=-3,n=11

m—n=-14




41. oA AA 3x —2x-5=09 F 2ol a, b W, ab 9] F27

5 5
@-; o ®-1 @3 ® 0

B

3x2-2x-5=(3x-5)(x+1)=0




(x=6)(x—1) =3x
x?—Tx+6=3x
x?-10x+6=0
x?—10x +25 =19

(x=5)2=19

x-5==+v19




43. g ol Ao 2L 7}

A
=

o, A4 & 2] ol A &

[e]
G2 A2

D x2-8x+k=0:k=16

@ xX*+12x+k=0: k=236
@ 24+kx+1=0:k==2 @x2—kx+9:03k=—3
® 4> +8x+k=0:k=4

@D -kx+9=0:k==6




44. o 5 119 oA AT 29 AGot B 2g BE e,

H7]
(x=3)2=2x-7
®x2—|—16:—8x @3x2+6x:—3
®)10x* =3x+1 @6(2x2—1):x
3
2_ —_——
® x —6<x 2)
(x-3)2=2x-7 A
x> —8x+16=0°|E&
(x=4)2=0
Lx=4
Z38 7R B2 2o] A4 1ol
@ (x+4)2=0
SLx=-4
@ +2x+1=0, (x+1)2=0
Lx=-1
® (Bx+1)(2x-1)=0
1 1
: = —= _9:_% = —
SoX 5 X 3
@ (3x+2)(4x-3)=0
2 3
nx=——Fex="
X 3 X 4
®x2-6x+9=0,(x-32=0
SLx=3




45.

v
oo
ol
o
)
ojn
<
)
ol
rH
o
N
rr
sl
lo
=
>
rr

D

H7]
@ x*-4x+4=0 © 4> +12x+9=0
1
© »¥-10x+25=0 @ZxQ—i—x—l—l:O

@ 9x? -30x+25=0

®1A @294 @3AH @1A @)sA

RE TS HAEY

Dx-4x+4=0 > (x-2)2=0
x=2(5D)

©4x> +12x+9=0 = (2x+3)2=0
L x=-2 @D)

©x*-10x+25=0 = (x-5)2%2=0
“x=5(5D)

1, 1 >
@Zx +x+1=0 = §x+1 =0

L x=-2(FD)
@9x?-30x+25=0 = (3x-5)2=0
)

X ==

3

(39)




46. T oY oA sli7F F2el ofd 27

D x2=0

@ x(x-6)+9=0
1

® §x2—|—4x—|—8:O

@x2—1:0

® x%+6x+11 = —(4x + 14)

(FHAFA)= 09] HEolojof TS Zr=tt.
@ x2 =1°|E2 x = +1
wEtA A2 o2 F Y 2 et




